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7.1
Q) TOYOCRYPT-HR1
#
1 |41CLK
X1 = C X7 (1),(0<1 <126) 6(P.9)
2 (P.15)
TOYOCRYPT-HR1(128,C,S) 0x f3ab6619 ...( )
Ox f3ad6619 ...
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#
1
2 C
3 Pentium 600MHz RAM128MB
4 oS Windows98 RedHat Linux 7.0J
5 Visual C++ 6.0 GNU C gcc 2.96
Win32 Release (/02 ) -02
10000000 Serial/Parallel
Implementation 10000000
_ftime(Visual C++)/gettimeofday(gcc) 5
# Windows98(Visual C++) RedHat( gcc)
Serial Parallel Serial Parallel
1 () 64.300 5.050 83.375 4.653
2 () 64.420 4.940 83.039 4.604
3 () 64.320 5.000 83.026 4.598
4 () 64.310 4.990 83.031 4.601
5 () 64.260 5.110 82.998 4.597
() 64.322 5.018 83.0938 4.6106
(Mbps) 1.186 15.204 0.918 16.547
Parallel Implementation 15
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